Answer on Question #81342 — Math — Calculus

Question
Show that the function f(X) =Xx—4+c0s(—2X) is even, odd, or neither. Algebraically.

Solution

The function f(X) isoddif f(—x)=—Tf(x) forall X inthe domain of function f (x).
The function f(X) is even if f(—X)= f(x) forall X in the domain of function f (X).
Note that the domain of function f(X) contains all real number and

f (—X) = (—X) —4 + cos(—2(—x)) = —x — 4+ cos(2X) .

Note that the function Cosine is even, so C0S(—2X) = c0S(2X), therefore

f (X) =Xx—4+cos(2x).

Consider

—f(X) =—(x—4+cos(2x)) = —x +4 —cos(2X) .
We see that f(—Xx)=—f(X) and f(—X)# f(X), hence f(X)is neither even nor odd.

Answer: the function f(X) =X—4+c0s(—2X) is neither even nor odd.
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